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Use the graphics to answer the following questions:
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2. Line [ is shown below.
Right triangles A B C and D EF are drawn to measure the slope of the line.

Find the run, rise, and slope given by each triangle.
Then, answer the questions.
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Triangle AB C:
run: rise: slope:
Triangle DEF:
run: rise: slope:

|Are the two slopes computed above equal? Why or why not?
C Yes. They are equal because the two triangles are similar.
C Yes. They are equal because the two triangles are congruent.
 No. They are not equal because the larger the triangle, the larger the slope.

 No. They are not equal because the smaller the triangle, the smaller the slope.
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Answer the questions below about the balloons.

(a) What is the rate of each balloon's rise?

Balloon A: centimeters/second
Balloon B: centimeters/second
Balloon C: centimeters/second

(b) Which balloon is rising the fastest?

¢ Balloon A ¢ BalloonB ¢ Balloon C

(c) How much does each balloon rise in 2 seconds?
Balloon A: centimeters
Balloon B: centimeters

Balloon C: centimeters




